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G ENT-masiln 0(0.0) 000.0)  2(50.0) 1(25.0)  1(25.0) 0(0.0) 4(100.0)
VIR 2 E LT 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
Batt ZtE LT 3(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
ERER ZRE L BT 10(90.9) 0(0.0) 1(9.1) 0(0.0) 0(0.0) 0(0.0) 11(100.0)
YRR FTFTRE 1 BE 3(75.0) 0(0.0)  1(25.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0)
B 166(77.2) 13(6.0)  21(9.8) 3(1.4) 9(4.2) 3(1.4) 215(100.0)
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B ERHSE P BT 0(0.0) 8(50.0) 1(6.3) 3(18.8) 0(0.0) 0(0.0) 0(0.0)  4(25.0)  16(100.0)
ERPREE ER S AT 0(0.0) 0(0.0) 4(66.7) 0(0.0) 2(33.3) 0(0.0) 0(0.0)  0(0.0)  6(100.0)
HEENE A E T 0(0.0) 3(42.9) 0(0.0) 0(0.0) 1(14.3) 0(0.0) 0(0.0)  3(42.9)  7(100.0)
EENEE R 2 AR D 0(0.0) 1(14.3) 5(71.4) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(14.3)  7(100.0)
FEER 2 E B 0(0.0) 0(0.0) 3(75.0) 0(0.0) 1(25.0) 0(0.0) 0(0.0)  0(0.0)  4(100.0)
[P A2 22 Al L BT 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  2(100.0)  2(100.0)
IR A B2 2 A E R T 0(0.0) 4(50.0) 1(12.5) 1(12.5) 0(0.0) 0(0.0) 0(0.0)  2(25.0)  8(100.0)
SEES 2R HT 0(0.0) 2(25.0) 1(12.5) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  5(62.5)  8(100.0)
R 2 - AE R DT 0(0.0) 0(0.0) 2(40.0) 1(20.0) 0(0.0) 1(20.0) 1(20.0)  0(0.0) 5(100.0)
BEED 2\ IR PR EEERTE [ IT 0(0.0) 1(14.3) 5(71.4) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(14.3)  7(100.0)
RIREEY IS FriE T 0(0.0) 3(21.4) 1(7.1) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  10(71.4)  14(100.0)
T LB 2 E T 0(0.0) 2(40.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  3(60.0)  5(100.0)
SR ARSI LR 22 0(0.0) 4(44.4) 3(33.3) 2(22.2) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 9(100.0)
FETHES 2 hE B 0(0.0) 426.7)  11(73.3) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  0(0.0)  15(100.0)
VI B SR TE 0(0.0) 2(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  2(50.0)  4(100.0)
TAE VB REEE 2 DT 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(100.0)  1(100.0)
HRAE G IR A TH T I DT 0(0.0) 1(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
B R A VIR TR A DT 0(0.0) 6(75.0) 0(0.0) 1(12.5) 0(0.0) 0(0.0) 0(0.0)  1(12.5) 8(100.0)
2 L Cp R = N i 0(0.0) 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
BE I A A E R DT 0(0.0) 7(53.8) 6(46.2) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  13(100.0)
(E5 - E\Rwii 0(0.0) 8(88.9) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(11.1)  9(100.0)
HEEAETERED 0(0.0) 6(33.3) 4(22.2) 2(11.1) 5(27.8) 0(0.0) 1(5.6) 0(0.0)  18(100.0)
YN RN Tl 0(0.0) 6(66.7) 1(11.1) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  2(222)  9(100.0)
YN N e e Y T b 0(0.0) 2(40.0) 1(20.0) 0(0.0) 1(20.0) 0(0.0) 0(0.0)  1(20.0) 5(100.0)
BB TE LB A D 0(0.0) 4(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  4(50.0)  8(100.0)
G EN - mails 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  4(100.0)  4(100.0)
VIR 2 E LT 0(0.0) 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
Batt ZtE LT 0(0.0) 2(66.7) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
ERER ZHE L BT 0(0.0) 8(72.7) 2(18.2) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(9.1)  11(100.0)
PRI FE TR DT 0(0.0) 2(50.0) 1(25.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(25.0)  4(100.0)
4&fn 0(0.0) 90(41.9)  53(24.7) 10(4.7) 10(4.7) 1(0.5) 2(0.9)  49(22.8) 215(100.0)
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BLEA ST FTRE LI 7(43.8) 1(6.3) 0(0.0) 1(6.3) 0(0.0) 3(18.8) 425.0)  16(100.0)
W PR ELRFT 22 T 4(66.7) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(33.3) 0(0.0) 6(100.0)
HEENE S A E DT 2(28.6) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(28.6) 3(42.9)  7(100.0)
HEHEE R 2 AR 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 6(85.7) 1(14.3)  7(100.0)
PR T 2(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(50.0) 0(0.0)  4(100.0)
IR 4R 22 A BE 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)  2(100.0)
TR 2R B2 2B R R R DT 0(0.0) 0(0.0) 1(12.5) 0(0.0) 0(0.0) 5(62.5) 2(25.0)  8(100.0)
E2EL 2 BT 1(125)  1(125) 0(0.0) 0(0.0) 0(0.0) 1(12.5) 5(62.5)  8(100.0)
R 2 hE L E R DT 1(20.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(80.0) 0(0.0) 5(100.0)
BEES 2 WRPREES2TE DT 4(57.1) 0(0.0) 0(0.0) 1(14.3) 1(14.3) 0(0.0) 1(14.3)  7(100.0)
RIREEYI ST FriE =Dt 2(14.3) 1(7.1) 0(0.0) 0(0.0) 0(0.0) 1(7.1) 10(71.4)  14(100.0)
T2 2 E 1D 2(40.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 3(60.0)  5(100.0)
Sl R IR B2 B2 AR 1(11.1) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 8(88.9) 0(0.0) 9(100.0)
TS 2R 3(20.0) 0(0.0) 0(0.0) 1(6.7) 0(0.0) 11(73.3) 0(0.0)  15(100.0)
VI B RREE 2 E T 0(0.0) 2(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(50.0)  4(100.0)
kAR B ER 2 H T 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)  1(100.0)
HRE AR A E AR IR DT 1(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
B E YRR A ETHE 4(50.0) 1(12.5) 1(12.5) 0(0.0) 0(0.0) 1(12.5) 1(12.5)  8(100.0)
B GEIIRRIR LTI 0(0.0) 0(0.0) 0(0.0) 1(50.0) 0(0.0) 1(50.0) 0(0.0) 2(100.0)
B A AT IR T 1(7.7) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 12(92.3) 0(0.0)  13(100.0)
B EEAETIT 5(55.6) 1(11.1) 1(11.1) 1(11.1) 0(0.0) 0(0.0) 1(11.1)  9(100.0)
B EE AETIEED 5(27.8) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 13(72.2) 0(0.0)  18(100.0)
N RATEERE LI 5(55.6) 1(11.1) 1(11.1) 0(0.0) 0(0.0) 0(0.0) 2(22.2)  9(100.0)
N RBEL AR 3(60.0) 0(0.0) 1(20.0) 0(0.0) 0(0.0) 0(0.0) 1(20.0)  5(100.0)
BEERE (LR A E T 4(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(50.0)  8(100.0)
EX//EN T i 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0)  4(100.0)
EVIRH A E T 0(0.0) 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
Batt ZtELBE 1(33.3) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 1(33.3) 0(0.0) 3(100.0)
NEER 2T 2(18.2) 4(36.4) 2(18.2) 2(18.2) 0(0.0) 0(0.0) 1(9.1)  11(100.0)
MERIBAFE TR BT 1(25.0) 1(25.0) 0(0.0) 0(0.0) 0(0.0) 1(25.0) 1(25.0)  4(100.0)
&80 61(28.4)  16(7.4) 7(3.3) 7(3.3) 1(0.5) 74(34.4) 49(22.8)  215(100.0)
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B2t oE e DT 2(12.5) 9(56.3) 1(6.3) 0(0.0) 4(25.0) 16(100.0)
BRSBTS AT 1(16.7) 5(83.3) 0(0.0) 0(0.0) 0(0.0) 6(100.0)
HEENE A E T 2(28.6) 2(28.6) 0(0.0) 0(0.0) 3(42.9) 7(100.0)
EENEEE 2 A E R D 2(28.6) 4(57.1) 0(0.0) 0(0.0) 1(14.3) 7(100.0)
TEEAIEE 2(50.0) 2(50.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0)
[P A2 22 Al L BT 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0) 2(100.0)
IR A B2 2 A E R BT 4(50.0) 2(25.0) 0(0.0) 0(0.0) 2(25.0) 8(100.0)
S 2 GE DT 0(0.0) 3(37.5) 0(0.0) 0(0.0) 5(62.5) 8(100.0)
R 2 - AE R DT 1(20.0) 4(80.0) 0(0.0) 0(0.0) 0(0.0) 5(100.0)
BEES Z R PREEE2TE T 3(42.9) 3(42.9) 0(0.0) 0(0.0) 1(14.3) 7(100.0)
RINEEYIT 52 e DT 0(0.0) 3(21.4) 1(7.1) 0(0.0) 10(71.4) 14(100.0)
T LB 2 E T 0(0.0) 2(40.0) 0(0.0) 0(0.0) 3(60.0) 5(100.0)
SR R LR 22 5(55.6) 4(44.4) 0(0.0) 0(0.0) 0(0.0) 9(100.0)
T 2R T 7(46.7) 7(46.7) 1(6.7) 0(0.0) 0(0.0) 15(100.0)
VI AR SR LT 1(25.0) 1(25.0) 0(0.0) 0(0.0) 2(50.0) 4(100.0)
ke G EE 2 E T 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0) 1(100.0)
TRE R A tH LA DL 0(0.0) 1(100.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
B e ba R VIR SR 2 E 1D 1(12.5) 6(75.0) 0(0.0) 0(0.0) 1(12.5) 8(100.0)
B BN A E I 1(50.0) 1(50.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
B G BRI A E R DT 3(23.1) 10(76.9) 0(0.0) 0(0.0) 0(0.0) 13(100.0)
B REA N AT 0(0.0) 7(77.8) 1(11.1) 0(0.0) 1(11.1) 9(100.0)
B RE N A TR E DT 1(5.6) 17(94.4) 0(0.0) 0(0.0) 0(0.0) 18(100.0)
PASIS et - /AN Tt i Rl 2(22.2) 5(55.6) 0(0.0) 0(0.0) 2(22.2) 9(100.0)
NI A A AR TE 0(0.0) 4(80.0) 0(0.0) 0(0.0) 1(20.0) 5(100.0)
B R TE LB A D 1(12.5) 3(37.5) 0(0.0) 0(0.0) 4(50.0) 8(100.0)
VIR 2RISR Y A E T 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0) 4(100.0)
VIR 2 E LT 1(50.0) 1(50.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
e SN T (FE AT 2(66.7) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
ERER ZRE LT 5(45.5) 5(45.5) 0(0.0) 0(0.0) 1(9.1) 11(100.0)
PRI FE TR DT 2(50.0) 1(25.0) 0(0.0) 0(0.0) 1(25.0) 4(100.0)
& 49(22.8) 113(52.6) 4(1.9) 0(0.0) 49(22.8) 215(100.0)
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B ERTIE e DT 7(43.8) 9(56.3) 0(0.0) 0(0.0) 16(100.0)
R 2T oE Pl 0(0.0) 6(100.0) 0(0.0) 0(0.0) 6(100.0)
BN R A E DT 1(14.3) 6(85.7) 0(0.0) 0(0.0) 7(100.0)
EEhEEE 2 AR R 4(57.1) 2(28.6) 1(14.3) 0(0.0) 7(100.0)
TFEEEE ZE DT 2(50.0) 2(50.0) 0(0.0) 0(0.0) 4(100.0)
IR A B2 A bE L BT 0(0.0) 2(100.0) 0(0.0) 0(0.0) 2(100.0)
LIt A 22 A AR SR DT 5(62.5) 3(37.5) 0(0.0) 0(0.0) 8(100.0)
SEES 2 E BT 2(25.0) 5(62.5) 1(12.5) 0(0.0) 8(100.0)
BEES 2 IH TR IR T 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
SEED Z R R R RE L DT 2(28.6) 5(71.4) 0(0.0) 0(0.0) 7(100.0)
RIREEY I P T 4(28.6) 10(71.4) 0(0.0) 0(0.0) 14(100.0)
FEME SR 2B T 0(0.0) 5(100.0) 0(0.0) 0(0.0) 5(100.0)
[ R I T = VA= 7 5(55.6) 4(44.4) 0(0.0) 0(0.0) 9(100.0)
FETHER 2 E LT 4(26.7) 11(73.3) 0(0.0) 0(0.0) 15(100.0)
VI E R AT 3(75.0) 1(25.0) 0(0.0) 0(0.0) 4(100.0)
TRAEGIREER S b 1D 1(100.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
kAR VB REER 2 AR R DT 0(0.0) 0(0.0) 1(100.0) 0(0.0) 1(100.0)
B i BR AR VIR T ER 2 - DE 0(0.0) 8(100.0) 0(0.0) 0(0.0) 8(100.0)
B AG EUARI R A EHDE 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
B AG EURTIEE A E AR R DT 6(46.2) 7(53.8) 0(0.0) 0(0.0) 13(100.0)
B R RN A DT 1(11.1) 8(88.9) 0(0.0) 0(0.0) 9(100.0)
B E SRR N AE TR EDT 2(11.1) 15(83.3) 1(5.6) 0(0.0) 18(100.0)
NHE AR ER S N S AR R RE T 2(22.2) 7(77.8) 0(0.0) 0(0.0) 9(100.0)
NI A T e R T 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
BB E L AT 2(25.0) 6(75.0) 0(0.0) 0(0.0) 8(100.0)
VIR BRI YR A E DT 1(25.0) 3(75.0) 0(0.0) 0(0.0) 4(100.0)
VIR 2D 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
et erEL Bt & TIEER S RE T 1(33.3) 2(66.7) 0(0.0) 0(0.0) 3(100.0)
DIRER 2 RE LB 2(18.2) 7(63.6) 2(18.2) 0(0.0) 11(100.0)
MRS AT DT 1(25.0) 3(75.0) 0(0.0) 0(0.0) 4(100.0)
&M 62(28.8) 147(68.4) 6(2.8) 0(0.0) 215(100.0)
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B ERTIE e DT 6(37.5) 10(62.5) 0(0.0) 0(0.0) 16(100.0)
R 2T oE Pl 0(0.0) 6(100.0) 0(0.0) 0(0.0) 6(100.0)
BN R A E DT 2(28.6) 5(71.4) 0(0.0) 0(0.0) 7(100.0)
EEhEEE 2 AR 4(57.1) 3(42.9) 0(0.0) 0(0.0) 7(100.0)
TFEEEE ZE DT 2(50.0) 2(50.0) 0(0.0) 0(0.0) 4(100.0)
IR AR B2 2 DT 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
LIt A 22 A AR SR DT 5(62.5) 3(37.5) 0(0.0) 0(0.0) 8(100.0)
SEES ZE BT 3(37.5) 5(62.5) 0(0.0) 0(0.0) 8(100.0)
BEES 2 IH TR T 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
GEEL 2 R PREEELEE - TT 1(14.3) 6(85.7) 0(0.0) 0(0.0) 7(100.0)
RIREEY ¢ P T 4(28.6) 10(71.4) 0(0.0) 0(0.0) 14(100.0)
FEME SR 2B DT 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
[ R I T = VA= 7 5(55.6) 4(44.4) 0(0.0) 0(0.0) 9(100.0)
FETHER 2 hE LT 4(26.7) 11(73.3) 0(0.0) 0(0.0) 15(100.0)
VI E R AT 3(75.0) 1(25.0) 0(0.0) 0(0.0) 4(100.0)
TRAE AR SR 2B DT 1(100.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
kAR VB REER 2 AR R DT 0(0.0) 1(100.0) 0(0.0) 0(0.0) 1(100.0)
B i BR AR VIR T ER 2 - DE 1(12.5) 6(75.0) 1(12.5) 0(0.0) 8(100.0)
B AG EUARI R A EHDE 0(0.0) 2(100.0) 0(0.0) 0(0.0) 2(100.0)
B G EURTIEE A E AR R DT 7(53.8) 6(46.2) 0(0.0) 0(0.0) 13(100.0)
B R RN A DT 2(22.2) 7(77.8) 0(0.0) 0(0.0) 9(100.0)
B E SRR N AE TR EDT 3(16.7) 15(83.3) 0(0.0) 0(0.0) 18(100.0)
NHE AR ER S N S AR R RE T 1(11.2) 6(66.7) 2(22.2) 0(0.0) 9(100.0)
N A T e R T 0(0.0) 5(100.0) 0(0.0) 0(0.0) 5(100.0)
BB E LB AT 3(37.5) 5(62.5) 0(0.0) 0(0.0) 8(100.0)
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BR BN 100.0 100.0 100.0
7.2 BEEEN > SEREENETZE ?
RE Hoaote | BRESEE | EEESTG
BET 11.1 11.1 11.1
e 77.8 77.8 88.9
ZEEEED)
R 11.1 11.1 100.0
4 100.0 100.0
7.3 BEEESN o REBIR K 0 Bl H AR ?
RE Hoote | BRESEE | EEEHSTG
By BEE 100.0 100.0 100.0
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ARH) ARE

da

A BEEEIE 7

AREE | BEESE
77.8 77.8 77.8
2.2 2.2 100.0
100.0 100.0

9. H AIAT E RV ESEAE S LA E R BRI TR E Ry {2

Hote | BRESEE | EEESTG
FERE 55.6 55.6 55.6
= 22.2 22.2 77.8
F=E D)
=) 22.2 2.2 100.0
4B 100.0 100.0
0. ¥ H R TIERVEERR 2 A2 S Fyfn]?
Btk | BRESEE | EEEST
JEE R 33.3 33.3 33.3
TR 55.6 55.6 88.9
F=E D)
N A 11.1 11.1 100.0
4B 100.0 100.0

(58 BIEHE]
L $HEHR R A (TR BT SRR - A BFA RN T 2

K BHooth | BRESE | BEEStt

FEEAEE 5 55.6 55.6 55.6

AR FEE 4 44 .4 44 .4 100.0
il 9 100.0 100.0
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2. BRI TIF AR E R

R R KETE B Ryfa] 2
2.1 BSEHI - HIREEIY

K Hote | BRESEE | EEEST
BRIy EEE 9 100.0 100.0 100.0
2.2 FEIT[EER R ERT AR
T Hoaotk | BRESEE | EEESTG
Ak 1 11.1 11.1 11.1
BRIy EEE 8 88.9 88.9 100.0
| 9 100.0 100.0
2.3 MNE B RIE
¥ Hote | BRESEE | EEESTG
Ak 5 55.6 55.6 55.6
ARy EEE 4 44 .4 44 .4 100.0
4aFn 9 100.0 100.0
2.4 FANEREH
R Hote | BRESEE | EEEST
Ak 8 88.9 88.9 88.9
By e 1 11.1 11.1 100.0
4aFn 9 100.0 100.0
2.5 HLEEH)
R Hote | BRESEE | EEEST
By R 9 100.0 100.0 100.0
26 SBEEEHE
T Hoaote | BRESEE | EEESG
FEEV O S 9 100.0 100.0 100.0
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2.7 SHAF RS RIS
K Hote | BRESEE | EEESTG
Ak 8 88.9 88.9 88.9
By e 1 11.1 11.1 100.0
4aFn 9 100.0 100.0
/LJ\IH§?Q Hlﬁ% _J
TE Btk | ARESEE | BEESEE
F=EY GO N 9 100.0 100.0 100.0
2.9 E(EIoT s ER B
¥ Hote | BRESEE | EEESTG
By R 9 100.0 100.0 100.0
2.10 Hftlk
T Hoaotk | BRESEE | EEESTG
FEEV O S 9 100.0 100.0 100.0

3. iR H 2 BB S B S R R B B B ?

3.1 RERFZEREE -5 (UCAN)

¥ Horte BRASEE | EFESEE
F=EY GO N 9 100.0 100.0 100.0
3.2 WhEL) ~ FL¥EsLE

K Horte BRASEE | EFEESEE
F=EY GO N 9 100.0 100.0 100.0
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3.3 MESR e (nl) fom )

KE Hott | AREStE | EFEES

Ak 8 88.9 88.9 88.9
By e 1 11.1 11.1 100.0
4aFn 9 100.0 100.0

RE Hott | AREStE | EFEESt

Ak 3 33.3 33.3 33.3
By e 6 66.7 66.7 100.0
4aFn 9 100.0 100.0

RE Hott | AREStE | EFEESt

R R 9 100.0 100.0 100.0

3.6 MEMEEA HES

RE Btk | AREStt | EEEatt

HHHY R 9 100.0 100.0 100.0

3.7 EHITIENE

RE Btk | AREStt | EEEatt

FiE 8 88.9 88.9 88.9
PR VGO 2 1 11.1 11.1 100.0
| 9 100.0 100.0
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3.8 WA L:E

Hote | BRESEE | EEESTG
Ak 88.9 88.9 88.9
By e 11.1 11.1 100.0
4aFn 100.0 100.0
3.9 AN EE
Hote | BRESEE | EEESTG
By R 100.0 100.0 100.0
3.10 HAt
Hoaotk | BRESEE | EEESTG
FiE 8.9 88.9 88.9
By e 11.1 11.1 100.0
4 100.0 100.0

(=807 R ERIRE]
L $ER T

T Btk | AREStE | EFEES
I 5 55.6 55.6 55.6
BRI W 4 4.4 44.4 100.0
4l 9 100.0 100.0
2. FERMFTEE 2 BEEERE
T Hott | BREStE | EFEES
I 55.6 55.6 55.6
BRI W 4.4 4.4 100.0
4l 100.0 100.0
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3. AEBMEATER Z Bl 2k

Bt | ARESE | EFEESTT
s 55.6 55.6 55.6
R 4.4 44.4 100.0
YAl 100.0 100.0
4. BIRGRtZ BEER
Bt | AREZE | EFEESTT
R 55.6 55.6 55.6
R 4.4 44.4 100.0
YAl 100.0 100.0
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Tk ¥ 115 %
F%FE 15

wEITR K

2LE2RIAADE NG

[5—&0 BsEER]

1. ERREHYRLSEIRM 2

TE

[Epaem

ARE T

ZEE ot

AREY TIEP (SHESEEN)

15 100.0

100.0

100.0

2. FMRE

SEBURIATR - REEZ ARG > SR EB—(p TIE?

T "otk | BRESLE | EEEST
ILE A A 3 20.0 20.0 20.0
K EE~1ERN 1 6.7 6.7 26.7
ZEEV D)
BEFICAER LM 11 73.3 73.3 100.0
4 15 100.0 100.0
3. GEMEH TAEZ ?
Hoote | BRESEE | EEEHSTG
21 14 93.3 93.3 93.3
B SRR 1 6.7 6.7 100.0
4 15 100.0 100.0
4. FHE ARSI E E
R Hoote | BRESEE | EEEHSTG
NN S 2 13.3 13.3 13.3
BURETFY 2 13.3 13.3 26.7
=% 1 6.7 6.7 33.3
B
ST (S8 - Xag
10 66.7 66.7 100.0
%)
4EF 15 100.0 100.0
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5. sEMEHATFPEEH LIERIA BZ /D 2 (81)

RE "otk | BRESE | EEES®G
KI3E ESE T 4 26.7 26.7 26.7
B 45EZEI08ETT 11 73.3 73.3 100.0
| 15 100.0 100.0
6. AIRAE TAERZERANTAEN B BB M) Bl 2 (BE2EE)
R "otk | BRESE | EEESTG
BLE2 - il - T2 - B2 1 6.7 6.7 6.7
BRI B REE 14 93.3 93.3 100.0
| 15 100.0 100.0
7.1 GERIEERAE TAERTHE By 2
Hote | BRESEE | EEESTG
By BN 100.0 100.0 100.0
7.2 BEEEN > FBRPTENETZE ?
Hoote | BRESEE | EEEHSTG
P 6.7 6.7 6.7
=hil 6.7 6.7 13.3
=T 73.3 73.3 86.7
F=E D)
[ A 6.7 6.7 93.3
TEER 6.7 6.7 100.0
4 100.0 100.0
7.3 BEEESN o REBIR K 0 Bl H AR ?
Hoote | BRESEE | EEEHSTG
By BEE 100.0 100.0 100.0
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WHRINTEANS » i i HEFED

i 9

AN .

lll’
K

KE Hott | AREStE | EFEES

ARy R

15 100.0 100.0 100.0

W HAIAT B A ESERE T B TR R AR & Ryfa] 2

UL
iy

oy 3

=9
3

AR

L,
sy
Rus
2
2
op

2aod
o
=

KH Bt | ARESEE | BRESTT
7 46.7 46.7 46.7
7 46.7 46.7 93.3
1 6.7 6.7 100.0
15 100.0 100.0

0. 3 H Al TAFHY R A R R fE Ry T2

AR

KE Btk | ARESEE | EEESLT
2 13.3 13.3 13.3
12 80.0 80.0 93.3
1 6.7 6.7 100.0
15 100.0 100.0

(=& BEEHE]

1. sHHEIREE R () Bt BEEERAZR o) - A B EFRAERY TAF ?

IFEHERY
HEY
AR

AR

K Bt | ARESEE | BREST
7 46.7 46.7 46.7
7 46.7 46.7 93.3
1 6.7 6.7 100.0
15 100.0 100.0
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2. PRGN IR TIFARTER L R KATE B Ryl ?
2.1 BSEHI - HIREEIY

KE Hott | AREStE | EFEESt

R 3 20.0 20.0 20.0
Ry BEE 12 80.0 80.0 100.0
vl 15 100.0 100.0

2.2 FENT[FS R ERTAR

RE Hott | AREStE | EFEESt

R 6 40.0 40.0 40.0
R BEE 9 60.0 60.0 100.0
vl 15 100.0 100.0

2.3 MNEHE

K Hoott | AREStE | EFEEStE

AR 8 53.3 53.3 53.3
AR BEE 7 46.7 46.7 100.0
il 15 100.0 100.0

24 BINEFRESE

K Hortt | AREStE | EFEESt

AR 14 93.3 93.3 93.3
AR BEE 1 6.7 6.7 100.0
450 15 100.0 100.0

2.5 {LEEE

K Hott | AREStE | EFEESt
ARy R 15 100.0 100.0 100.0
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2.6 E=EL

R Btk | ARESE | EFEESTT
e 14 93.3 93.3 93.3
SESCONN 1 6.7 6.7 100.0
Yl 15 100.0 100.0
2.7 S EARIEATRULE
K8 Btk | ARESE | EFEESTT
e 13 86.7 86.7 86.7
RSO 2 13.3 13.3 100.0
Yl 15 100.0 100.0
2.8 EILMH ~ IesstE
K Hott | AREStE | EFEEStE
B A 15 100.0 100.0 100.0
2.9 JE(EMFT e B
R Btk | ARESE | EFEESTT
e 12 80.0 80.0 80.0
SO 3 20.0 20.0 100.0
4l 15 100.0 100.0
2.10 ELAfFIIR
K8 Btk | ARESE | EFEESTT
LGOS 15 100.0 100.0 100.0
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3. &%

B 2 BUBEL L U S B B S R s Y B B ©

3.1 RERPrZEREE -5 (UCAN)
RE Btk | BRESE | EEEST
i 13 86.7 86.7 86.7
B EEE 2 13.3 13.3 100.0
4 15 100.0 100.0
3.2 WhEREE ~ WL
R Hath | BRESE | BEEEST
PN 14 93.3 93.3 93.3
B EEE 1 6.7 6.7 100.0
B 15 100.0 100.0
3.3 WSS IR OH ) S E)
R Hoath | BRESE | BEEESLT
Ak 13 86.7 86.7 86.7
R EEE 2 13.3 13.3 100.0
B 15 100.0 100.0
3.4 EREE - 235
R Hath | BRESE | BEEESLT
A 13 86.7 86.7 86.7
R EEE 2 13.3 13.3 100.0
B 15 100.0 100.0
35 REEAERHE
R Hoath | BRESE | BEEESLT
PR GO N 15 100.0 100.0 100.0
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3.6 FIERIFEREA HEE

KE Hott | AREStE | EFEES

Ry Rk 15 100.0 100.0 100.0

3.7 EMITIENE

RE Hott | AREStE | EFEESt

R 14 93.3 93.3 93.3
ARy BEE 1 6.7 6.7 100.0
vl 15 100.0 100.0

3.8 KA L:E

RE Hott | ARESE | EFEESt

R 14 93.3 93.3 93.3
ARy BEE 1 6.7 6.7 100.0
vl 15 100.0 100.0

3.9 MHNIEE

RE Hott | AREStE | EFEESt

R R 15 100.0 100.0 100.0

3.10 HAth

RE Btk | AREStt | EEEatt

Ak 7 46.7 46.7 46.7
By e 8 53.3 53.3 100.0
| 15 100.0 100.0
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1. SIEEERGSHE

(=% HERBERIEHE]

K Bt | AREZE | EFEESTT
IR 3 20.0 20.0 20.0
R 12 80.0 80.0 100.0
YAl 15 100.0 100.0
2. FERMEFTEE 2 BEEERE
K Bt | AREZE | EFEESTT
IR 4 26.7 26.7 2.7
R 11 73.3 73.3 100.0
YAl 15 100.0 100.0
3. FERMFTEE 2 BE 2 FE
K Bt | AREZE | EFEESTT
IR 4 26.7 26.7 2.7
R 11 73.3 73.3 100.0
YAl 15 100.0 100.0
4. BIRGRBtZ BEER
K Bt | ARESE | EFEESTT
IR 6 40.0 40.0 40.0
R 9 60.0 60.0 100.0
YAl 15 100.0 100.0
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¥4 B30 3 0

HEEF A ELS
vk ¥ 110 >
7% % D10
wEéRE D 0K
Y i Dy SEEA /,
[E—&7 EEEP]
1. EAEREEYELEEIRN ?

TE Hott | ARESE | EFEEST
AR TP (EBEEEN) 10 100.0 100.0 100.0

2. FEMEERSEER NG - RETEZARHE > BB~ LIF?

RE Btk | ARESEE | EEESLT

LI1~3MEH AN 1 10.0 10.0 10.0
ARy BEERIEAERIE 9 90.0 90.0 100.0
HErn 10 100.0 100.0

3. ST LIEZR?

RE Btk | AREStt | EEEatt
R e 10 100.0 100.0 100.0

4. SRR 2 2

R Hootek | BRESEE | EEEHSTG
NN S 1 10.0 10.0 10.0
BURETFY 1 10.0 10.0 20.0
=% 5 50.0 50.0 70.0

B
IEEFIEMS (S8 - Xag
3 30.0 30.0 100.0

%)
4B 10 100.0 100.0
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5. sEMEHATFPEEH LIERIA BZ /D 2 (81)

Horte

ARE L

AR

ISEZE1087T

10

100.0

100.0

6. WAL TAERCET(TAEN B aE M) ] 2 (B

ZREE I

RE Btk | ARAESLE | BEEST
BRI 5 50.0 50.0
R BE S 5 50.0 50.0
Sl 10 100.0 100.0
7.1 SEREEAE TR B 2
RE Bote | AREstt | BEESTE
By BN 10 100.0 100.0 100.0
7.2 SRR - SRR 2
KE BHorth | AREStE | BEEAESt
=X 1 10.0 10.0 10.0
B 4 40.0 40.0 50.0
B S 4 40.0 40.0 90.0
B 1 10.0 10.0 100.0
Sl 10 100.0 100.0
7.3 BRI - SRR R - I E AR 2
K& Hoth | ARESLE | BEEASL
BRI BE 10 100.0 100.0 100.0




8. MHAIN TIEANE

|
1

B TG 7

&

R Btk | ARESE | EFEESTT

GeES 9 90.0 90.0 90.0

Ry AHE 1 10.0 10.0 100.0
vl 10 100.0 100.0

& H mi AT BRI EE RS D B AR AT E R AVAERAZ R fyfa] 2

T Hott | BREStE | EFEES
FEHE 5 50.0 50.0 50.0
B e 5 50.0 50.0 100.0
4l 10 100.0 100.0
10. 3 H AT LA RRYEEAGR SRR S Ry fa]?
T Hote | AREStE | EFEEStE
SR 1 10.0 10.0 10.0
BRI W 9 90.0 90.0 100.0
YAl 10 100.0 100.0

1 SRR 2

(=& BEEHE]

(AR BERVE SRRk > A BIHESRAERY TIE 2

KE Btk | ARESEE | EEESLT

FEFEED 3 30.0 30.0 30.0

Ry FE 7 70.0 70.0 100.0
HErn 10 100.0 100.0

2. MR EEREN IR TIFARTER

2.1 BRI - HIREE

EER Ry i RAVE B R AT 2

R

L4

[Epz)>

ARE L

EN =Py

ARH)  EEE

10

100.0

100.0

100.0

76




2.2 FENT A R ERTR

R Btk | ARESE | EFEESTT

R 4 40.0 40.0 40.0

Ry BEE 6 60.0 60.0 100.0
vl 10 100.0 100.0

K Hott | AREStE | EFEEStE

A 6 60.0 60.0 60.0

R BEE 4 40.0 40.0 100.0
450 10 100.0 100.0

i

24 BINEFRESE

pil

K Hott | AREStE | EFEEStE
ARy REE 10

100.0 100.0 100.0

2.5 tLEEE

xE | EAE | AXESE | BEESE
AR Rk 10 100.0 100.0 100.0
26 sEESH
x| ESEE | ARESE | BEESG
ARIE 9 90.0 90.0 90.0
AR BEE 1 10.0 10.0 100.0
Ha 10 100.0 100.0
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2.7 SHEFIET i EE)
RE Horthk BRESE | BEESLE
ARk 6 60.0 60.0 60.0
By EEEE 4 40.0 40.0 100.0
4 10 100.0 100.0
/LJ\IH§?Q Hlﬁ% _J
RE Hoth ARESE | BEESTE
F=EY GO N 10 100.0 100.0 100.0
2.9 E(EWITEEEE R
RE Horthk BRESE | BEESEE
ARk 9 90.0 90.0 90.0
By EEEE 1 10.0 10.0 100.0
4 10 100.0 100.0
2.10 HAhgI%f
RE Horthk BRESE | BEESLE
By R 10 100.0 100.0 100.0

3. iR S BB R B B SR R B IR B 2

3.1 REBertZERAEF- 5 (UCAN)

x| EAE | AxEst | BEESH
Ry R 10 100.0 100.0 100.0
3.2 TERSE ~ BRSKEEE

x| EAE | AxEst | BEESH
ARy R 10 100.0 100.0 100.0
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3.3 MESR e (nl) fom )

EC matk | BREst | 2mEstt
BRI Rk 10 100.0 100.0 100.0
34 ¥FREEH - 25

B Eate | EREst | gmEstt

sk 6 60.0 60.0 60.0
B EEE 4 40.0 40.0 100.0
4B 10 100.0 100.0

3.5 FEE RS

Ky Eate | EREst | gmEstt
PRGOS 10 100.0 100.0 100.0
3.6 MEMFEES HEY

R Eate | EREst | 2mEstt
By R 10 100.0 100.0 100.0
3.7 EHITERE

T Eate | EREst | 2mEstt
FERO I N 10 100.0 100.0 100.0
3.8 WA L:E

EC matk | BREst | 2mEstt
PSR S 10 100.0 100.0 100.0
3.9 AT :E

Ky Eate | EREst | gmEstt
PRGOS 10 100.0 100.0 100.0
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3.10 HA

KE Hoyte | AREatE | BTt
R 4 40.0 40.0 40.0
Ry BEE 6 60.0 60.0 100.0
vl 10 100.0 100.0
kk‘:ﬁ 3 VN =
[B=H7 HERBERIEHE]
1. B R SHE
KE Hoyte | ARESE | BTt
IR 6 60.0 60.0 60.0
AR R 4 40.0 40.0 100.0
i 10 100.0 100.0
2. AEBHMSHTER 2 HEEHRE
RE Hoyte | ARESE | BTt
IR 6 60.0 60.0 60.0
AR R 4 40.0 40.0 100.0
HEFn 10 100.0 100.0
3. (EBMEHTER Z Bl 25k
KE Hoyte | ARESE | BTt
IEE R 5 50.0 50.0 50.0
AR R 5 50.0 50.0 100.0
HEFn 10 100.0 100.0

80




4. BT Z BEEIR

KE Byt | AREStE | BEEstt

IEE R 5 50.0 50.0 50.0
HHHY R 5 50.0 50.0 100.0
vl 10 100.0 100.0
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